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(1) BolHzcEBELTWL.

(r+2)2x—DBx+4)
= (222 +3x —2)(3x + 4)
= (62 +92° — 6x) + (82° + 122 — 8)
= 62+ 172° + 62— 8

(2) (22 —=3) 2L HTUTDISIZREREAT 5.

(x? +2x—3)(2* —4x —3)
= (22 —3) + 22 {(x? — 3) — 4z}
= (22 —3)* — 2x(x? — 3) — 822
= ' —6x°+9— 22° + 62 — 82°
=2 —22° — 142 + 62+ 9

(r—D(x+2)(x+3)(xr+6)
={lz— D@ +6)ii(x+2)(x+3)}
= (2*+5x —6)(x* +5x +6)
= {(2%? +5x) — 6}{(2* + 5x) + 6}
= (2> +5x)* — 6°
= z' +102* + 252* — 36

4) BEOAR (a+b) @ Fab+0)=a>+D° 2\ 5.

(r—3)z2+32+N(x+ D2 —x+1)
= (* =2 (x* + 1)
= 1% — 262% — 27
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oftFEmE H4M B3 Q)

0.05mol/L X 60g/mol+1000cm3x 1g/ cm®X 100=0.3% &% 0.3%

OftFERE H4M R3 (2)

1X103+0.05=0.02 %2 0.02




